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Section : General Intelligence

Q.1 fFA=fafle ar sier-wgl # @ i sier g v FAffa a6 @ g 9 § ofik gk s 81 39
STEIT 3HER THE &l T

Ans X" 1 BCEH
o 2.LMPS
X 3.TUwWz
75 4.KLNQ

Question ID : 98958015817
Status : Answered
Chosen Option : 4

Q.2 Ueh ahlS 9TST |, ELASTIC &t DOHVFLW forat Sirar @1 at St wimsm & SMARTER &l & forar
SITQTm?

Ans X" 1. EQVUUHW
75 2. DPVTUGW
7% 3.DOTUUHX

o 4. DPVUUHW

Question ID : 98958015810
Status : Answered
Chosen Option : 2

Q.3 A+B & Adad g ‘AN & BTl
‘A-B @i Adad g ‘A, ufd & BTl
‘A x B’ 'shT AdeTdl @ ‘A, ATdT & B &fY'I
‘A+B HIHAAT & ‘A, a8 & B 'l

AMRP+R+T-KxO0xCg, a P10 d oar Seer g?
Ans X1 far

X 2.
of 3. =
75 4.z

Question ID : 98958015815
Status : Answered
Chosen Option : 3

Q.4 F=fafaa gfiezor & 9d g9 & o R 3 gl & ermua d gea & =nfae?
20+5x3+3-1=14




Ans  of 1 :af+
K 2. x 3R+
/X 3.+ 3%
75 4.x 3R -

Question ID : 98958015519
Status : Answered
Chosen Option : 1

Q.5 U gHfHe # digg 9 O W €1 R &R &9 &% gt &9 & 91y Uk A9 Sed! g, at gafde |
et A9 @< wTgA?

Ans X" 1101
W 291
/X 3.78
/X 4.66

Question ID : 98958015820
Status : Answered
Chosen Option : 2

Q.6 ‘TIRMT I ‘SHTEl @ dWT ) T g A ST drEET ' Q@)
Ans X" 1 emfat
X 2. RR

X 3@
v 45t

Question ID : 98958015813
Status : Answered
Chosen Option : 4

Q7 37 a7 MW F IOT FT A SEATAAT 9 & T F FET B FEY =0T AT B
Ans

r




Question ID : 98958015833
Status : Answered
Chosen Option : 4

Q.8 Qe ATAT 3R 3T I Y FieT 311 60 T g1 37 31rg # 30 aef o 3ielR &1 AT Y g A

Ans

Hifsai
X 1409
o 2 45ad
/X 3.35q¢
/X 450

Question ID : 98958015518
Status : Answered
Chosen Option : 2

Q.9

Ans

frafafEa el et arfdher ofiz Trefer svr A eafeaq w31

1. fagy u fiwzaa 4=
2. fagy &y sz a9

3. fA%] & 1 M

4. YT & areft A1 1 =m=
5. fagy &y fAstar

o 143125
X 241,235
/X 3.5231,4
X 441,325

Question ID : 98958015809
Status : Answered
Chosen Option : 1

Q.10

Ans

A & 7 gy F e fee Ag £

-
A7

v 29
X2 27
X3 30
X 4 31

Question ID : 98958015829
Status : Answered




l Chosen Option : 4

Q.11 Fr=fafEa e # orTe T UR o1 a1 318R- |g ol 99 Fifag|

DOP, FPN, HQL, JRJ, ?
Ans X 1. KSH

X 2. LSl
o 3. LsH
X 4 KTl

Question ID : 98958015516
Status : Answered
Chosen Option : 2

Q12 3x fawen & o Torwst & 7 Al (X) HaRART § (Ml # gEe S seaAty w48

Ans

Question ID : 98958015830
Status : Answered
Chosen Option : 2

VB A & oS Y AT F T TUR W A AN HHE F LA
A‘ AD(Alm| |
HEE

Alo
®|0

Ans

F




Al®
X 2
olo
VN (=
3
ole
Alo
X 4
Ol®

Question ID : 98958015828
Status : Answered
Chosen Option : 3

Q14 3pRr g9or # T 7T S F @ AR @ S, @ G i wd e ofy w9
UKR4edm38

" v 8mboblANU
:8wbotANU
:8mboabPAKN
“-8mbald)U

Question ID : 98958015832
Status : Answered
Chosen Option: 1

Q.15 3 ReT g =t @ @ 5 3R F $ OReRl o # & 8 FeR e ) oAe e g & 9
T R &=

Ans




J,

- .

X 3

Question ID : 98958015831
Status : Not Answered
Chosen Option : --

Q.16 3R MAGENTA <Rl 1317514201 & ¥U # ehiSdg forar mar &, af VISCOUS @t ¥l shiseg forar
SIg?
Ans y” 1.229193152119

/X 2.228193142118
/X 3.239203152219

/X 4.218193162018

Question ID : 98958015811
Status : Answered
Chosen Option : 1

Q.17 FRafafaa ar gl d @ i 21 ves AfYa adid @ g S € iR Ueh 31T 81 3 31T 205 i
I
Ans Jmaﬁﬁ
/X 2. Mfraee
75 3. offem
X 4

Question ID : 98958015818
Status : Answered
Chosen Option : 3

Q18w & oy v 2 sremT-sreT Trufaat femns o8 §1 s A 9w g & & I feae fig e
s X112

X 25
V33
X 41

An

[ Question ID : 98958015827




Status : Answered
Chosen Option : 3

Q.19 39 e ol A STt ¥R S1eR-Tig @ It avg Heifda & S8 guRT S1eR-UHg Ugd HeR-95g 9
a1

CQHL : FTEI :: OPAR : ?
Ans X" 1.YTXO

75 2. RSXP
/5 3.RTYO
o 4 Rsx0

Question ID : 98958015812
Status : Answered
Chosen Option : 4

Q.20 3wy Ry Y €, fomds e o= Frsamd |, 11 ok 111 g 71q &1 el oY o A g, WA d a
3T R R T a2l @ 31T oira @i, ag fAofa ifSi fah spia-a1/a s et @ arfdhes =0
 SITHYT el g/ &
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aft ds FF &
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fArsep:

|. 55 Fh A 8

Il. Fs st 32§l

lll. =S s sieT g &1

Ans  off 1 Free | o ar it e 11 4T 111 SrgERT A &
7 2. ae e | 3R 111 SER0T &R &
75 3. goft e argerRor R &1
/X 4. %ae e | 3R 11 3ER0T &R B

Question ID : 98958015819
Status : Answered
Chosen Option : 4

Q.21 I HET-giH ht g TR & Ty 34t avg Hdfda & 9 Fafafae dwear-gm 6 & bwewand
Tafda &

7:729
Ans X" 1.6:343

/X 2.5:125
o 3.8:1000
X 4464

Question ID : 98958015822
Status : Answered
Chosen Option: 3

Q.22 foreft st vTeT A, ELECTION <t DKDBSHNM for@t Sirar @1 3¢t ehls v & EXAMPLE Y s/n
forar smem?

Ans X" 1.DYZLOKD

75 2. DWZLOKF




o 3.DWzLOKD

75 4. FWZLOKD

Question ID : 98958015514
Status : Answered
Chosen Option : 3

Q.23 fA=fafEd ar Gzt # @ i 9] ves fAfa a6t @ v St & ok gas d=ar e 81 a8
T g Sit o= Heeradl & renT g1

Ans X" 1181
75 2.173
X 3.179
o 4183

Question ID : 98958015826
Status : Answered
Chosen Option : 2

Q.24 31eRl & I HylSH &t g ol § 7 38R siEe & R TUH F SFATER WR S WR sjaet ot
ORT AT

H__EPCK__CDEP_KFHC_EPC_F
Ans X" 1. CDHHDCK

/< 2. DCFHFDD

o 3. CDFHCDK

/5 4. CCFHKDK

Question ID : 98958015814
Status : Answered
Chosen Option : 3

Q.25 I A-goH di g fAHH &t e IH =g Halfda & o FAfaf@d ares-gm 4 3 2ree |afda &)
o ; faereft
Ans X 1 qTgeh ; fohen
V 2. a5 e
/X 3. %R urh
/X 4,90 e

Question ID : 98958015816
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 F=fafaa @ @ gmraa: fra vives aa Y wHt & FRor gt 7 8 sirar &2
Ans X1 faafaEC

X 2. &fRam

/X 3. mEA

o 4 smide




Question ID : 98958015168
Status : Answered
Chosen Option: 3

Q.2 a¥ 1774 ¥ ufdrg Afgeen gg |, Afgeen ) sraw & fore wrama A g=mam ur?
Ans X" 1. arrrch-ge-gel

o 2. genseder

75 3. ST g farert

< 4 aft-ge-den

Question ID : 98958015178
Status : Answered
Chosen Option : 2

Q.3 dterasd f¥ard ufkatsHn fore 7 ur a=md =i 3 87
Ans X" 1 e

X 2.9m

W 3. e

X 4l

Question ID : 98958015173
Status : Answered
Chosen Option: 1

Q.4 ¥R HRAYH & AFTAR, AT TR UR GG ol TS Teh QY T & -1 forar <1 Tepat
fSrgehl s ffafea § 9 fra @ sifder T 82

Ans  of 1 FmemE
X 2. dweara
/X 3. =iy org

75 4. zgeE

Question ID : 98958015181
Status : Answered
Chosen Option : 1

Q.5 #d fAhTe Gaehich 2018 # YR o1 ok T &2

Ans  of 1130
X 2.210
/X 3.181
X 421

Question ID : 98958015166
Status : Answered
Chosen Option : 3

Q.6 gl & gg A foRd THTe Y 1 7 AgRION yag & g fRar ur?
Ans X 1. gaifee ey
p R




X sgm

o 4 s

Question ID : 98958015177
Status : Answered
Chosen Option : 3

Q.7 frE 212019 Gea SHSTA 2ATE U giehl' f&ame sfiar?

Ans X1 wRd
X 2. sitefemr
o 3.z R
p R CIR

Question ID : 98958015183
Status : Answered
Chosen Option : 2

Q.8 ¥Ra d = Hareil & forg Hatwa R (51 & sa #) F=fafea § 9 w-ar d?

Ans  of 1 iR T
X 2. dR =
/X 3. i e
X 4 RS =

Question ID : 98958015180
Status : Answered
Chosen Option : 2

Q.9 & & d S & wufa & w0 d R erdare & fog ford gam mam?

Ans  of 1 S feier
/X 2. Ammrarcht geroitas

25 3. gefiel e getait

X 4. srgleam aies

Question ID : 98958015187
Status : Answered
Chosen Option : 1

Q.10 AhIA aStaT AMHeF FATSRTa MRrehars |11 Y wfar & wufie farg g e’ wamsh @ gwwar

& FdeR 2018 ¥ fora Teifaa fomar mar an?

Ans X" 1 wigeere
fz.srfh—cnﬂaa——{
/X 3. 3 daeh
75 4 Rarer

Question ID : 98958015179
Status : Not Answered
Chosen Option : --

Q.11 =i 2019 &, =fayor gfvars geals 7grig (SAFF) i afgen afgafg wra 3 smar @=-




Ans X1 w8

Question ID : 98958015185
Status : Answered
Chosen Option : 3

Q.12 3 & A Sitert srergeft A FArfaf@e A @ fra su=rma & g '2019 891 geae deieme
[RERR Sar?
Ans X 1 feie

7% 2.3 ure sngdieE
X 3 agt
o 4 aRfRaard

Question ID : 98958015188
Status : Answered
Chosen Option : 1

Q.13 URURe ik T Mérgan fore o & Hafda 82
Ans X‘I_ﬁ'gﬂ

X 2. w<fg

W 3. sifRam

/X 4 ufmETE

Question ID : 98958015164
Status : Answered
Chosen Option : 4

Q.14 Preafafla & & dogex wTaT, COBOL a1 nfarsehr e fwam um?
Ans X 1. it dreff

X 2.8

X 3. T & g

Vv 4 REwR

Question ID : 98958015172
Status : Answered
Chosen Option : 2

Q.15 wEufa & g d Iou= 9+t |@3gl ok fenel & sita et ik Fofa &= it arfwa foved fAifga
&?

Ans X" 1. rsg & gty
/X 2. e
75 3. 9Rd & e HA
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Question ID : 98958015182
Status : Answered
Chosen Option : 1

Q.16 \Rd & Ha& gt #i3 urht A sfie ‘wide s fora wwa A R 82
Ans  of 1 srivmRar

X 2. e

/X 3. g 3R iR

X 4 st

Question ID : 98958015176
Status : Answered
Chosen Option : 3

Q.17 SIRTOHT 2011 3 IJER, fohe WST & SIS & U9 Tt 31fdh §?
Ans J‘I.%ER'

75 2. werig

X 3. IR

/X 4. ufm s

Question ID : 98958015175
Status : Answered
Chosen Option : 3

Q.18 s il & hegex ol UM ITh GRT______ & IUGNRT & SR TR ST ST Hehell 8]
Ans x1a—nplqa|§

75 2. $ifee ufdhe

3.z

/X 4. ArERAER

Question ID : 98958015171
Status : Answered
Chosen Option : 1

Q.19 fA=fafaa & @ #F-u1 M Reaar! werE & fog ukig 82
Ans x1gaq

75 2. g

W 3 7=

X 4.3

Question ID : 98958015165
Status : Answered
Chosen Option : 1

Q.20 #E 2019 deh, fha AT A fohdhe & =l ureul (‘¥ a4, v Radia &=, &-20 A=) @ Ay d

TS 31fdeh ARy = a-1Q §7?
Ans XL@T‘@@%{
/X 2. Ry aife




o 3. ofe dgees
/< 4. e gt

Question ID : 98958015184
Status : Answered
Chosen Option : 4

Q.21 ST 2018 #, 31iey H&2r SRR ZRT fhd uaft ot wrsrehra uaft atfte favar war &2
Ans X" 1. 3 grifert

/X 2. Rka g

o 3. AR da

X 4. e hee gege

Question ID : 98958015174
Status : Answered
Chosen Option : 2

Q.22 Ffafea # @ w-a1 g dar it Rigia & e e man @ 76 g8 qe1 o=t gqa1 &t vaer
 TIg pR ST 8?7

Ans  off 1 e @ e
< 2. W ger
7K 3. mfet depeften (Rsoh) fRisewor

75 4. ToreR v

Question ID : 98958015167
Status : Not Answered
Chosen Option : --

Q.23 &Rk ol arlt # A & I -4 ot Feg wear 82
Ans  off 1 e aw

75 2. afor et

/X 3. gudh e

75 4 wigaha se

Question ID : 98958015169
Status : Answered
Chosen Option: 3

Q.24 TYwh AL Y ZRT Sig RAfRAar gei 6 a0t iR SiReddar 9gM & g g 9 &t simzidia s
fraear f&aw (IDB) & & # oifda forar mar 82

Ans X" 110, 7R
/X 2,24, et
< 3.18, 9

W 2227

Question ID : 98958015186
Status : Not Answered
Chosen Option : --
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Ans X1 wie
o 2 da
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Question ID : 98958015170
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 vF TEg W # &N T ¥ o 5w Hw & 3329 W SW a9 AW, & 20% F @ @eh ) 5w o5
Tx IT A AT & A S o Faw §?

Ars o 1.140

< 2 125

#3130

<4120

Question ID : 98958015691
Status : Answered
Chosen Option : 2
Q2 ( TP . )cosﬂ =2,0°< 8 < 90° &, A sin®8 + cot?8 + sec*d F AW g
1+cosech 1-cosect

Ans

- 1
?'(1.2E

1
v 3;

X3 2
X a1

Question ID : 98958015705
Status : Answered
Chosen Option : 4

Q.3 AABC #, «BAC & @HASHe=* AD &, St BC @ D 9T fieiar §1 3°X AC = 21 cm, BC = 12 em
3T BD & #arE DC & 2 cm % &, & 351 AB #r was &

Ans - X114 em
<210 cm
/<318 cm
v 415 cm

Question ID : 98958015701
Status : Answered
Chosen Option : 1

Q4




1 1
4 tan® au°+; sin® gu"+; cot®60°+sin® 30° cos45°

F AT &

5in60° cos30°—cos60° 5sin3 0"

: 1
?{W.ZE

Ans

Question ID : 98958015703
Status : Not Answered
Chosen Option : --

Q.5 figr 7 &5 MW (I ATE) 9 TN, 2014 & 2018 ¥ ShT frdr SO #r anw A wmw
(U5 T4 #) FT e 2

Income and Expenditure (in ¥ crores) ofa

company in 5 Years
280
250
izs
2018 2015

2015, 2017 X 2018 7 F9=1r #T T 7, FiT a1 H FF ST W T kel Tiowld HH g2

ans K122

X 2 24
X3 21
v 26

mincome

»Expenditure

Years

Question ID : 98958015709
Status : Not Answered
Chosen Option : --

Q6 3w x+y+2z=19x2+y2+22=133 ¥ A x®+y3+2°—3xyz T AT &
Ans - X 1. 342

<2 380

V'3 361

< 4 352

Question ID : 98958015698
Status : Answered
Chosen Option : 4

Q.7




fear T/ 37 3w (ST ) 9T aut, 2014 ¥ 2018 ¥ S fr o v sy v s
(F0E TIT ) Fr AT B

Income and Expenditure (in Tcrores)ofa
company in 5 Years

350
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wIncome

150
o w Expenditure
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2014 2015 7 2008
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5

ot =t 3 S B (3T 39) siET 3 2015 F 3E @ ¥ A v aRw

Ans X1 246
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V224
X 4242

Question ID : 98958015707
Status : Not Answered
Chosen Option : --

Q.8 Ry 7T Z5 WNW (X AH) T FST, 2014 F 2018 ¥ N T H9AT Fr 377 3w =
(FF T A) F oA

Income and Expenditure (in T crores) ofa
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H
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Question ID : 98958015708
Status : Not Answered
Chosen Option : --

Q.9 F@r i AABC~AQPR aify 22450 - 2
ar(APQR) 2
T B

Ais of 1.6 cm
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< 415 cm
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Question ID : 98958015724
Status : Answered




l Chosen Option : 4

Q.10 sABC #, =T AB it BC Wwm D ¥R Ear Mg sw e & B AD : DB = 2 : 3 3w DE || AC
£l IR AADE # 9% 18 em? §, a1 AABC & 819%aT (cm? &) T 82

Ans X 1. 54
v2 75
X3 405
X 4 45

Question ID : 98958015702
Status : Answered
Chosen Option : 4

Q11 = ==fFa s sliws & 31,250 ¥ fe ov 30% 3t f5w 20% & ge 90 F2ar §1 3% e spas
FIAT TE?

Ans  of 1. 700
X 2. F350
X 3 F550
X 4 T500

Question ID : 98958015722
Status : Answered
Chosen Option : 1

Q.12 80 ezt @ ve Fam A, wHOT AT wEd Rem¥Et # s 5 ¢ 3 ¥ faedr wham A, anor
it & sfta wrai gl Reanfied @ gear # 40% 10 31 7fy wi it @ siea
gredies 69 &, o amor Remnfet w7 s geae = e

as 1. 92

v 84

<3 76

<4 80

Question ID : 98958015688
Status : Answered
Chosen Option : 2

Q.13

R 8(x+y)P —(x—y)=

(x +3y)(Ax> + Bxy+ Cy?) &, @t (A—B—C) &I A &
Ans X110

X214

X3 B

v 2

Question ID : 98958015696
Status : Not Answered
Chosen Option : --




Q1% 3T 9a% + 16b% 4+ c2 + 25 =24

(a+b) & I (3a+4b+5c) & &AL &
Ans 110

X286

v 7

<49

Question ID : 98958015697
Status : Answered
Chosen Option: 3

Q.15 10-3/0t 1 ver TEAT 46789x531y TR 72 @ W ¥ O x ¥ ¥ 9% ® F A (20 + 5y) FAS
-

Ans X110
v 28
X3 38
X416

Question ID : 98958015694
Status : Answered
Chosen Option: 2

®1° Zf% tan x = cot (B0°+ 6x) &, aF x F AT FIT gEM?

Ans | 15°

JZ 2p°

X3 12°
X4 10°

Question ID : 98958015725
Status : Answered
Chosen Option : 3

Q17 v 3vg # FrAa & I 20% T A 7| Iy AW AR Y 3 F 37 F Foad F oA 259.20 §
a1 gEY aY ¥ 3 F FEG F40% (X H) g m

Ans X 1. 472
X 2 484
v 432
X 4 384

Question ID : 98958015690
Status : Answered
Chosen Option : 3

Q.18




fortlr =79 & 3fdm 7Fw X 20% #F gE & & W $H T360 F I A ¥ N 5@ a&g W GE Al
& 1 2, 7 50% ® o B g F HT TeU &2

Ans X 1. 360
X 2 320
V2 F300
X 4 350

Question ID : 98958015689
Status : Answered
Chosen Option : 2

Q.19 gy /a7 €8 3N (I TE) 9= TN, 2014 F 2018 F I AT 9N Fr 3w 3 s
(F13 T F) F AT &

Income and Expenditure (in Tcrores) ofa
company in 5 Years

350
325 P 325
300 280 375
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200 :
oy = Incarme
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]
014 s 018

2016 017
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g

2014, 2016 3X 2017 & &9l F Fo =77 IR F& MT M IS FA 82

Ans X115 : 16

X23:4
v35:6
X413 :18

Question ID : 98958015706
Status : Not Answered
Chosen Option : --

Q.20 e e ofr T 15% 9 39 Twqfe & F1 @ T 3 99 F v ftF 3R W dofeT sl
m?4167%|mmw,maﬂ,4§a&ﬁmmmghm

Ans 1. F4800
X 2. 76000
v 2 35760
X 4 76144

Question ID : 98958015693
Status : Answered
Chosen Option : 2

Q21 18 g Bl ww # ¢ RE F 9w = wwa §1 5 B 9% F = F aw, 6 T 7w 3o g2
T U FH F W FA F 57 e Rw we
Ans 1

X1-2£
1
X2 3E




Vs 3
Xa2

Question ID : 98958015685
Status : Answered
Chosen Option : 1

Q.22 o HEEE 9% S was SEET SeE & 20 m HUE & iy 353 g dew e & 9 S

FT T T 321200 § 7 IR F EFRA (m? H) 77 87

Ans  of 1. 9900
X 2 8925
X 39240
X 4 9504

Question ID : 98958015687
Status : Answered
Chosen Option : 3

Q.23 #x O 3= Bl e &, =AW AB AR SfeT CD vw-g@y # E W Fed §, AC AR AD T Jer = #

3T £BOC = 48° T 2A0D = 100° &, & £CEB &1 AT Far §7

Ans X 1. 78°
V2 74°
X3 72°
K 4.82°

Question ID : 98958015700
Status : Answered
Chosen Option: 3

Q24 5-100f10x4+4+40f4X 10— (10— 4) = 16 X 4 =T TIAFT AT FT §?

Ans X125
V212
X 3 585
X 4 21

Question ID : 98958015695
Status : Answered
Chosen Option : 4

Q.25 72 kmvh 3R 108 kmvh i fy ¥ faoda feemst & am @ T S 7 2 TWENEE TH-EEY # 10

Tehg H 9T FT AT £l 350 m T OEHH FH UgAT IoFNE fhael BAT (UE) H 9 RE?

Ans o 1. 30
X2 32
X3 36
X4 24

Question ID : 98958015686




Status : Answered
Chosen Option : 2

Section : English Language

Q.1

Ans

Select the word which means the same as the group of words given.

An instrument used for measuring atmospheric pressure
J 1. barometer

x 2. altimeter

X 3. thermometer

x 4. voltmeter

Question ID : 98958015905
Status : Answered
Chosen Option : 2

Q.2
Ans

Select the wrongly spelt word.

X 1. require
J 2. resembel

X 3. reproduce

x 4. reverse

Question ID : 98958015908
Status : Answered
Chosen Option : 1

Q.3
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Every morning, nine-year old Khushi becomes guardian to her five-year old sister Ankita as (1)
___hold hands and cross the railway tracks to (2) the school. The sisters leave
home (3) ______ 7 am with school bags larger (4) their torsos. The 2 km route they walk
on foot to reach school (5) includes walking past a railway crossing and through the
lanes of an industrial area used by mini trucks and carrier vehicles.

SubQuestion No : 3
Select the most appropriate option for blank No. 1.

W 1 they
X 2. them
75 3.she
X 4. we

Question ID : 98958015892
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Every morning, nine-year old Khushi becomes guardian to her five-year old sister Ankita as (1)
hold hands and cross the railway tracks to (2) the school. The sisters leave
home (3) 7 am with school bags larger (4) their torsos. The 2 km route they walk




on foot to reach school (5) includes walking past a railway crossing and through the
lanes of an industrial area used by mini trucks and carrier vehicles.

SubQuestion No : 4
Q.4 Select the most appropriate option for blank No. 2.

Ans ( 1. reach

X 2. arrive
X 3. come
X 4.go

Question ID : 98958015893
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Every morning, nine-year old Khushi becomes guardian to her five-year old sister Ankita as (1)

hold hands and cross the railway tracks to (2) the school. The sisters leave
home (3) ______ 7 am with school bags larger (4) their torsos. The 2 km route they walk
on foot to reach school (5) includes walking past a railway crossing and through the
lanes of an industrial area used by mini trucks and carrier vehicles.

SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 3.

Ans X' 1. on
W 2 at
75 3. from
X 4in

Question ID : 98958015894
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Every morning, nine-year old Khushi becomes guardian to her five-year old sister Ankita as (1)

hold hands and cross the railway tracks to (2) the school. The sisters leave
home (3) 7 am with school bags larger (4) their torsos. The 2 km route they walk
on foot to reach school (5) includes walking past a railway crossing and through the
lanes of an industrial area used by mini trucks and carrier vehicles.

SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 4.

Ans X 1. with

«2. than
x 3. from
x 4.to

Question ID : 98958015895
Status : Answered
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Every morning, nine-year old Khushi becomes guardian to her five-year old sister Ankita as (1)

hold hands and cross the railway tracks to (2) the school. The sisters leave
home (3) 7 am with school bags larger (4) their torsos. The 2 km route they walk
on foot to reach school (5) includes walking past a railway crossing and through the
lanes of an industrial area used by mini trucks and carrier vehicles.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 5.

Ans X" 1. widely
X 2. evenly
75 3. hardly
W 2. daily

Question ID : 98958015896
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate antonym of the given word.

INSTANT
Ans X 1. current

J 2. delayed

X 3. immediate

x 4. quick

Question ID : 98958015901
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate synonym of the given word.

THWART
Ans  of 1 impede

X 2. support
x 3. face
/X 4. aid

Question ID : 98958015900
Status : Answered
Chosen Option : 2

Q.10 Select the word which means the same as the group of words given.

The study of human history and prehistory through the excavation of sites
Ans J 1. archaeology

X 2. geology
x 3. anthropology
X 4. psephology

Question ID : 98958015906
Status : Not Answered




l Chosen Option : --

Q.11 Select the most appropriate word to fill in the blank.

In view of his transfer to a far off place, he had to
Ans J 1. forgo

x 2. assert
X 3. claim
x 4. resign

his promotion.

Question ID : 98958015910
Status : Answered
Chosen Option: 3

Q.12 In the sentence identify the segment which contains the grammatical error.

Mrs. Sangeeta Malik is one of the favourite teacher of most children in our school.
Ans X" 1. of most children

X 2. Mrs. Sangeeta Malik is
J 3. one of the favourite teacher

X 4. in our school

Question ID : 98958015885
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate antonym of the given word.
RESERVED
Ans X 1. placid
J 2. communicative
X 3. quiet
x 4. modest

Question ID : 98958015902
Status : Answered
Chosen Option : 3

Q.14 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. The subjects taught in the Gurukul varied from Sanskrit to Mathematics.
B. Indian education has its roots in the ancient ages.

C. However this system changed when the British came to India.
D. In those days the Gurukul system was followed.

Ans X" 1.DCAB

W 2.BDAC
/< 3.CBAD
75 4.BCAD

Question ID : 98958015897
Status : Not Answered
Chosen Option : --




Q.15 Select the correct passive form of the given sentence.

The new gardener looks after the plants well.

Ans J 1. The plants are looked after well by the new gardener.

x 2. The new gardener is looked after well by the plants.
X 3. The plants looked after well by the new gardener.

x 4. The plants were looked after well by the new gardener.

Question ID : 98958015887
Status : Not Answered
Chosen Option : --

Q.16 Select the correct indirect form of the given sentence.

Father said to me, "Are you going to keep me waiting all night?'

x 2. Father asked me are you going to keep me waiting all night.
x 3. Father told me that you are going to keep him waiting all night.

( 4. Father asked me if | was going to keep him waiting all night.

Ans x 1. Father asked me if you were going to keep him waiting all night.

Question ID : 98958015888
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate meaning of the given idiom.

Going over one's head

Ans X" 1. unable to take a decision
x 2. unable to function as one used to
x 3. something one didn't expect

J 4. beyond one's capacity to understand

Question ID : 98958015904
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate meaning of the given idiom.

Mad as a hatter
Ans J 1. eccentric

x 2. very upset
X 3. old fashioned
x 4. superstitious

Question ID : 98958015903
Status : Answered
Chosen Option : 2

sentence. If there is no need to substitute it, select No improvement.

Q.19 Select the most appropriate option to substitute the underlined segment in the given

The civic bodies in the capital have formed teams to crack down on coaching centres found




Ans

violated a law.

( 1. found violating the law
x 2. found to violated a law
X 3. finding to violate the law

x 4. No improvement

Question ID : 98958015889
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate word to fill in the blank.

The prisoner held up his fist in a defiant as he was led out of the courtroom.

Ans X" 1 token
X 2. wave
x 3. salute
( 4. gesture
Question ID : 98958015909
Status : Answered
Chosen Option : 1
Q.21 Select the wrongly spelt word.
Ans X" 1 nerve
x 2. neglect
X 3. negative
J 4. nerveous
Question ID : 98958015907
Status : Answered
Chosen Option : 2
Q.22 Select the most appropriate option to substitute the underlined segment in the given

sentence. If there is no need to substitute it, select No improvement.

The Urban Art Commission has suggested that the landscape be developing by adding
water fountains around the sculpture.

Ans X" 1. be developed with
J 2. be developed by
X 3. to be developed by
x 4. No improvement
Question ID : 98958015890
Status : Not Answered
Chosen Option : --
Q.23 Given below are four jumbled sentences. Out of the given options pick the one that gives

their correct order.

A. At this speed the rocket soon attained the height of 190 miles above the earth.
B. At 9 am the great rocket lifted in the air with a mighty roar.
C. It rose smoothly at first, then quickened to a speed of 17,500 miles an hour.




Ans

D. Gagarin now pulled himself towards the window to look down.

/< 1.BADC
75 2.cBAD
/< 3.ADBC
o 2.BCAD

Question ID : 98958015898
Status : Not Answered
Chosen Option : --

Q.24 Select the most appropriate synonym of the given word.

Ans

HANDY
( 1. convenient

X 2. hard
x 3. useless
X 4. clumsy

Question ID : 98958015899
Status : Answered
Chosen Option: 3

Q.25 In the sentence identify the segment which contains the grammatical error.

Ans

| expect to return from Singapore during about a week's time.

X 1. I expect to return
( 2. during about
x 3. from Singapore

x 4. a week's time

Question ID : 98958015886
Status : Not Answered
Chosen Option : --




